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Question: 1  

What does 
46  mean? 

a) 6+6+6+6 b) 46 c) 444444 d) 6666  e) 4(6+6+6+6) 

 

Question: 2  

Which one of the following shows the correct simplification of 
2 3a a  ? 

a) 5a  b) 6a  c) 2 3( )a  d) 52a  e) 62a  

 

Question: 3  

Which one of the following shows a correct simplification of 
2 3 3a a a   

a) 8a  b) 18a  c) 83a  d) 2 32a a  e) 2 62a a  

 

Question: 4  

Which one of the following shows a correct simplification of 
3 42 3x x  

a) 126x  b) 125x  c) 75x  d) 76x  e)  
3 4

6x  

 

Question: 5  

What does 
2 32 4a b equal? 

a) 58( )ab   b) 68( )ab  c) 56( )ab  d) 2 36a b   e) 2 38a b   

 

Question: 6  

Which one of the following is equal to:  

5 4

2 2

2 5

2 5




 ? 

a) 510   b) 3 21 1   c) 3 22 5   d) 610   e) 57   

 

Question: 7  
6

2

b

b
 can also be written as:   

a) 2b   b) 4b
  c) 4b   d) 8b   e) 3 
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Question: 8  
0 06 3a b  is equal to:    

a) 0 b) 1 c) 9 d) 18 e) None of these 

 

Question: 9  

Which one of the following is not equivalent to: 
98y ? 

a) 6 32 4y y   b) 6 34 4y y  c) 88y y  d) 5 38y y y   e) 9 94 4y y   

 

Question: 10  
2 3 7 10 4

6 7 2 6 2

x y z x y z

x y z xy z
   is equal to:  

a) 3x   b) 8

12

x

y
  

c) 

2 2

1

x z
  

d) 2x z   e) 2x yz   

 

 

 

 
 


